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PART A: Grammar
Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or

phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best complete the sentence.
Then mark your answer sheet.

I guess he should shake a leg. If the office is closed, Mike ............ be able to get in.

1) might 2) wouldn’t 3) won’t 4) may

I’ve been looking for this book for 2 years. I would definitely buy it if I ............ any money.

1) will have 2) would have had 3) could have 4) had

I overslept this morning and I feel very sad. I wish I ............ up earlier. ’m behind with everything today.

1) get 2) had got 3) might get 4) was getting

This drug is very important and vital for sick people, so I think it ............ to anyone who wants it.

1) has sold 2) should be sold 3) might sell 4) would have sold

Our wedding anniversary has always been so important to you. So, if you ............ , I will book a table
for Friday at our favorite restaurant.

1) would like 2) liked 3) have liked 4) like

You may not believe this but ............ that the soccer player Thiago Silva is earning $10 million a year.

1) it’s supposed 2) it would suppose 3) it’ll be supposed 4) it supposes

A young man has applied for the job. He hopes to be invited to an interview, but he’s worried about
............ difficult questions.

1) being asked 2) asked 3) would have asked 4) could be asking

Don’t think bad things just happen to you. Tom had his car ............ from outside his house.

1) stole 2) stolen 3) would steal 4) being stole

The good news is that we have completed the experiment. The results ............ in the media.

1) would publish 2) being published 3) might had published  4) will be published

Candidates ............ to arrive no less than 15 minutes before the start of the examination.

1) have expected 2) expect 3) are expected 4) be expected

PART B: Vocabulary
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words

or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best complete the sentence.

11-

12-

13-

15-

16-

Then mark the correct choice on your answer sheet.

The tiger was still on the loose but she wasn’t considered a/an ............ to anyone.

1) assumption 2) influence 3) matter 4) threat

It’s so difficult to go on a diet and lose weight. Who can ............ creamy delicious Carvel ice cream?

1) check 2) resist 3) build 4) orbit

She started forward, then ............ a moment, evidently debating within herself whether she would go or not.

1) hesitated 2) abused 3) replayed 4) exposed

One of the largest and most widely distributed species of this genus is the Amblystoma Tigrinum, an
............ of both the east and west of the United States and of a considerable part of the cooler parts of
Mexico.

1) iceberg 2) idea 3) inhabitant 4) illness

You have to be very careful when you want to leave the jungle. Any spark could easily ............ the fumes.

1) utter 2) ignite 3) debate 4) remind

This young man, of whom I spoke to you last summer, is so noble-minded and full of real youthfulness.
He is so ............ and has a very Kind heart.

1) lying 2) coward 3) lazy 4) frank
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19-

20-

21-

22-

24-

25-

27-
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She had run a lot before she fell asleep. Then when she woke up and opened her eyes, she saw the
............ shadow was waiting for her.

1) crowded 2) negligible 3) recent 4) dreaded

They brought me here and told me not to say a word. I’m curious, and it’s ............ that I’m not allowed
to talk to anyone!

1) elegant 2) plain 3) absurd 4) drastic

Over two-thirds of urban air ............ is generated by transportation, while virtually all remainder are
due to other petroleum-using activities.

1) oxygen 2) drama 3) theories 4) pollution

After that big fight, their mom forced them to hug each other, but whatever the issue was, the ............
between Alex and Dulce remained.

1) conflict 2) doubt 3) reward 4) reply

People barely knew him before that time, but his success in ............ Sicily earned him the surname of
“the Great.”

1) forgetting 2) remembering 3) conquering 4) misusing

Kris caught a ............ of what looked like a shopping mall west of them. His gaze lingered since he saw
an old friend there.

1) glimpse 2) knife 3) piece 4) doorway

He couldn’t believe what he was reading. Half the ............ of his planet had been decimated by famine
and war.

1) percentage 2) population 3) preauction 4) popularity

Buying pants and jeans is a bit difficult in this town; some stores ............ the practice, while others may
allow you to try them on as long as you wear a pair of your own panties underneath.

1) mock 2) conclude 3) collect 4) forbid

She didn’t have to search everywhere in the house. A quick check of the bathroom and bedroom
............ he was not there.

1) decreased 2) revealed 3) fell 4) hid

PART C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark

the correct choice on your answer sheet.

1) The samples were prepared in a clean room before being sent out for further examination.

2) They were prepared the samples in a clean room before sending them out for further examination.
3) The samples were being prepared in a clean room before send out for further examination.

4) They had prepared by samples in a clean room before they had sent out for further examination.

1) It confirmed that on the night of the sixth of July, a truck has run into the bakery. Now if the police want to
solve the mystery of the accident, they need the CCTV footage from the street.

2) It is confirmed that on the night of the sixth of July, a truck had run into the bakery. Now if the police want
to solve the mystery of the accident, they would need the CCTV footage from the street.

3) It has confirmed that on the night of the sixth of July, a truck has run into the bakery. Now if the police
would want to solve the mystery of the accident, they will need the CCTV footage from the street.

4) It has been confirmed that on the night of the sixth of July, a truck ran into the bakery. Now if the police
want to solve the mystery of the accident, they will need the CCTV footage from the street.

1) Mask Company asked Emma to work for them. Emma refused the offer, but her parents wish she’d
accepted it.

2) Mask Company would ask Emma to work for them. Emma has refused the offer, but her parents wish she
would accept it.

3) Mask Company had asked Emma to work for them. Emma refuses the offer, but her parents wished she’d
accepted it.

4) Mask Company will ask Emma to work for them. Emma has refused the offer, but her parents wish she has
accepted it.
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1) It hadn’t been Laura’s fault that she won’t recognize Nick. She might recognize Nick if he hadn’t had a
crash-helmet on.

2) It was not Laura’s fault that she didn’t recognize Nick. She have recognized Nick if he had not a crash-helmet on.
3) It’s not Laura’s fault that she didn’t recognize Nick. She might have recognized Nick if he hadn’t had a
crash-helmet on.

4) It couldn’t be Laura’s fault that she wouldn’t recognize Nick. She might have recognized Nick if he

wouldn’t have a crash-helmet on.

1) A witness at the crime scene was told the police that there was a loud noise coming from the truck when it
goes towards the building.

2) A witness at the crime scene told the police that there was a loud noise coming from the truck while it was
going towards the building.

3) A witness at the crime scene had told the police that there is a loud noise coming from the truck while it

went towards the building.
4) A witness at the crime scene told by police that there has been a loud noise coming from the truck while it

was going towards the building.

PART D: Language Functions
Directions: Read the following conversations between two people and choose the answer choice (1), (2),

(3), or (4) that best completes the blank in the conversations. Then mark the correct choice on your

answer sheet.

A: Did you take the interview for CCE company?

B: Not yet, it’s tomorrow afternoon.

A: Oh, I thought it was yesterday. So did you hit the books for the interview? I’ve heard it’s not easy.
B: I’ve been working all week till midnight and had no time to study for the interview. And now I
don’t even ...31... about the job.

A: That’s terrible. If you can get up ...32... tomorrow, you can come to my place and I’ll give you a
...33... about the job. Can you ask your boss to give you a day off?

B: Asking Brandy?! ...34... . He doesn’t let us leave the office one minute before 5 o’clock, let alone

give us a day off.

1) go too far 2) give a second thought 3) have a clue 4) play my cards right
1) win-win 2) bright and early 3) like a night owl 4) at a crossroads

1) dead-end job 2) big shoe to fill 3) crash course 4) state agency

1) Cold turkey 2) Hopes are high 3) Fat chance 4) I’'m afraid yes

A: Do you want me to ask my dad to give you money? You need money to start your business.
B: Yes, I need money for my job but I have ...35... about borrowing money from your dad.
A: You shouldn’t feel that way. He loves you and he would be happy to help you.

B: Thank you, but my own dad is ...36... . I should ask him to lend me money.

A: So, why don’t you ask him?

B: Because he’s too stingy and he wants me to ...37... in two weeks. And I can’t do that.

1) set my heart 2) mixed feelings 3) followed your dreams 4) a pig in a poke
1) made of money 2) a real eye-opener 3) crystal clear 4) bluffing
1) pay him back 2) do him a favor

3) give him a second chance 4) go against all odds
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A:1didn’t ...38... last night. I was thinking about my birthday party.

B: Come on. Your birthday party is next week. You shouldn’t overthink it. Unlike you, I slept like a log.

B: ...39... ! I wish I was as carefree as you.

A: 1 am not carefree, but I ...40... and I get so exhausted. So, it doesn’t take much time before I fall

asleep.

B: Yes, you’re right.
38- 1) show my hand  2) hit the jackpot
39- 1) A dime adozen 2) What a misery

3) sleep over
3) Good for you

3) lend you an ear

4) sleep a wink
4) Wish you luck

40- 1) work like a dog 2) win some, lose some 4) am positive

PART E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space.

Then mark the correct choice on your answer sheet.

Ferdinand Waldo Demara was ...41... the greatest impostor in history. He ...42... in the USA in 1921.
As a young man, he ...43... to be a doctor, an engineer, a lawyer, a university professor, a soldier and a
sailor. Demara’s greatest ...44... was during the Korean War. In 1951 Demara pretended to be Dr. Joseph
Cyr (a real doctor) ...45... he could work on a ship. The ...46... loved him! He cured their illnesses, he ...47...
bad teeth and he ...48... difficult operations. He had his greatest moment after a soldier ...49... . The bullet
was very close to the soldier’s heart. Demara studied from a book so that he could save the man’s life. He
...50... the bullet and the soldier lived. In fact, while Demara worked as a doctor, none of his ...51... died.
Demara became ...52... because of his great work as a ship’s doctor and his photo ...53... in some
newspaper in Canada. The mother of the real Dr. Cyr saw the photo. She knew this was not her son. So, she
told the police and they arrested him. Demara didn’t go to prison because people thought he was a hero.
Instead the police ...54... him and gave him extra money to say “thank you” for his great work! But later the
police arrested him for a different crime. Demara pretended to be a teacher and the police ...55... him. He
spent six months in prison. After this, he played one more role. He appeared in a 1960 film (called The
Hypnotic Eye) to make some money, acting as a doctor. But real fame arrived in 1961 when Hollywood

made a film of Demara’s life.

41- 1) importantly 2) wrinkly 3) probably 4) firefly

42- 1) had born 2) born 3) will be born 4) was born
43- 1) pretended 2) thought 3) wondered 4) crashed
44- 1) gap 2) adventure 3) shock 4) sight

45- 1) so that 2) asif 3) since 4) unless

46- 1) enemies 2) armies 3) stuff 4) soldiers
47- 1) made up 2) moved on 3) gave up 4) pulled out
48- 1) has performed  2) had been performed 3) performed 4) performs
49- 1) was shot 2) shooting 3) might shoot 4) shot

50- 1) vanished 2) removed 3) revealed 4) polluted
51- 1) enemies 2) patients 3) colleagues 4) roommates
52- 1) weirdo 2) stranger 3) famous 4) qualified
53- 1) published 2) has been published 3) could publish 4) was published
54- 1) informed 2) commented 3) transferred 4) released
55- 1) caught 2) escaped 3) realized 4) converted



. » el Sl pny Jo ) _ .
Ol | pazio mssjlgs Jlguw o ool DFiQ.cOM -l (robaisl) ualSsl gbj | §

PART F: Reading Comprehension
Directions: In this part of the test you will read three passages. Each passage is followed by five

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your
answer sheet.

Passage 1:

A robot is a machine. But it is not just any machine. It is a special kind of machine. It is a machine that
moves. It follows instructions. The instructions come from a computer. Because it is a machine, it does not
make mistakes. And it does not get tired. And it never complains. Unless you tell it to!

Robots are all around us. Some robots are used to make things. For example, robots can help make
cars. Some robots are used to explore dangerous places. For example, robots can help explore volcanoes.
Some robots are used to clean things. These robots can help vacuum your house. Some robots can even
recognize words. They can be used to help answer telephone calls. Some robots look like humans. But most
robots do not. Most robots just look like machines.

Long ago, people imagined robots. Over 2,000 years ago, a famous poet imagined robots. The poet’s
name was Homer. His robots were made of gold. They cleaned things and they made things. But they were
not real. They were imaginary. Nobody was able to make a real robot. The first real robot was made in
1961. It was called Unimate. It was used to help make cars. It looked like a giant arm.

In the future, we will have even more robots. They will do things that we can’t do. Or they will do
things that we don’t want to do. Or they will do things that are too dangerous for us. Robots will help us
fight fires. They will help us fight wars. They will help us fight sickness. They will help us discover things.
They will help make life better.

56- As used in paragraph 1, we can understand that something special is NOT ............ .

1) normal 2) expensive 3) perfect 4) tired
57- According to the author, robots may be used to ............ c

I. make cars

I1. explore volcanoes

III. answer telephone calls

1) I only 2) I and II only 3) II and III only 4) 1, 11, and 111
58- What is the main purpose of paragraph 2?

1) to show how easy it is to make a robot

2) to tell what a robot is

3) to describe the things a robot can do

4) to explain the difference between a robot and a machine
59- According to the passage, when was the first real robot made?

1) 1961 2) 1900 3) 2003 4) 2000 years ago
60- Using the information in the passage as a guide, which of these gives the best use of a robot?

1) to help make a sandwich 2) to help tie shoes

3) to help read a book 4) to help explore Mars
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Passage 2:

A material is what something is made of. There are 5 basic materials. Most things are made with these
materials. Some things are made of metal. Some things are made of glass. Some things are made of wood.
Some things are made of cloth. And some things are made of plastic. There are some other materials. But
they are not used as much as these 5 materials.

Let’s talk about metal first. Metal is very heavy. And it is very hard and strong. It usually feels cool if
you touch it. We use metal to make lots of things. We use it for forks and knives. We use it for keys. We use
it for cars. We use it for these things because it is very strong.

Next, let’s talk about glass. Glass is very smooth. It feels cool to touch. It is not as heavy as metal. It is
hard. But it is not strong. It breaks very easily! Then why do we use it? We use it because it is clear! You
can see through glass! That’s why we use it for windows. That’s also why we use it for glasses.

Now, let’s talk about wood. Wood is lighter than metal and glass. It is not as strong as metal. But it is
much stronger than glass. We use wood to make lots of things. Things made from wood are usually light
and hard and strong. Chairs and tables are made from wood. Pencils are made from wood.

Now let’s talk about cloth. Cloth is very light. It is much lighter than wood. And it is very soft. We use
cloth to make lots of things. For example, it is used to make clothing. And it is used to make blankets.

Last, let’s talk about plastic. Plastic is also very light. But it is different from cloth. Sometimes it is soft.
And sometimes it is hard. Plastic can be used to make thin plastic bags. These are light, soft, and strong.
But plastic can also be used to make bicycle helmets. These are light, hard, and strong. A helmet and a bag
seem different. But they are both made from plastic.

61- Which sentence from the passage best describes the main idea?
1) “We use cloth to make lots of things.” 2) “Metal is very heavy.”
3) “There are 5 basic materials.” 4) “A helmet and a bag seem different.”
62- In paragraph 4, the author says, “Wood is lighter than metal and glass.” What is the main purpose of
this sentence?
1) to explain something 2) to recommend something
3) to compare something 4) to demonstrate something

63- According to the passage, which of these things is a material?

1) chairs 2) clothing 3) windows 4) wood

64- Which material will you use if you want to make something that is strong and very light?
1) plastic 2) wood 3) metal 4) glass

65- In this passage, the author talks about ............ 3
1) hard things first, then soft things 2) heavy things first, then light things

3) strong things first, then weak things 4) cool things first, then warm things
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Passage 3:

It is breakfast time. You have been looking forward to eating a nice ripe banana ever since you woke
up. Just when you reach for the delicious piece of fruit on your counter, you see something that makes you
much less hungry: a swarm of fruit flies!

Fruit flies are tiny insects that are attracted to ripe or rotting fruits and vegetables. The flies not only eat
the fruit, they also lay their eggs there. A single fruit fly can lay up to 500 eggs on the surface of a piece of
fruit. Within eight days, the fruit flies that hatch from these eggs are full adults that can then lay their own
eggs. As you can see, what might start out as a small fruit fly problem can become very large very quickly.

Although there is a chance fruit flies can carry germs onto your food, this is not very likely. Fruit flies
are annoying, but they probably will not hurt you. Because they are such a nuisance, however, most people
want to get rid of these pesky bugs as quickly as possible. Some people use pesticide sprays on the fruit flies.
Although this will kill the flies, it will also spread harmful poison all over your kitchen. Luckily, there is
also a completely safe way for you to get rid of fruit flies in your house.

The first step is for you to remove all fruits or vegetables from your counter. Store these items in the
refrigerator or in sealed containers. Clean up any spilled juice or bits of food that might be on the floor.
Take out the trash and empty the recycling bin. Wash any dirty dishes that are in your sink. Doing all of
these things will stop new fruit flies from finding food or places to lay their eggs.

Next, make a trap to catch all of the remaining fruit flies in your house. First, fill a small bowl with a
few tablespoons of vinegar. Then, put a piece of very ripe or rotting fruit into the vinegar. Cover the bowl
very tightly with a sheet of plastic wrap and poke a few very small holes in the wrap with a fork. If all goes
according to plan, the flies will enter the trap through the holes but will be unable to fly back out. This trap
will catch all of the remaining fruit flies. You can either kill these flies or release them outdoors.

Fruit flies can be a pest, but they do not have to make you crazy. With a little effort, you can get
existing flies out of your house and prevent new ones from taking over your Kitchen.

66- According to the passage, why should you NOT use pesticide spray to Kill fruit flies?
1) Most sprays do not actually kill all of the fruit flies.
2) Buying sprays can get expensive if you need to use a lot of them.
3) The sprays take too much time to work.
4) It can be dangerous to use them in your kitchen.
67- Based on the information in the penultimate (one-to-the-last) paragraph, we can understand that the
author thinks that ............ .
1) some people do not mind having fruit flies in their house
2) some people do not like killing insects
3) fruit flies do not like vinegar
4) making a fruit fly trap can be difficult

68- As used in paragraph 3, a nuisance is something that ............ -
1) bothers you 2) grows fast 3) is very small 4) can be dangerous
69- In reading this passage, we learn that fruit flies ............ .

I. die immediately after they lay their eggs

I1. can grow into adults after only 8 days

III. are mostly harmless

1) I only 2) I and II only 3) Il and III only 4) 1, 11, and 111
70- The word “there” in line S refers to ............ .

1) flies 2) fruit 3) eggs 4) vegetables
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